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1. Black to play
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4. White to play
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7. Black to play

Answers:

1. Bxh3, Rc2, Rh5, Qe3+, K8, Kg1, Reb, Qf2,

Rel+, Qxel, Qxel+

4. Rc1, Qxc7, Rxc8, Qxc8, Rxc8

7.KcB, Re3, ¢1=Q, Rxc1, Qxcl

X Ray Attack Puzzles
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5. White to play
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8. White to play

2. Rfel, Rxe4, Qxe4, Qxeh, Rxek

5. Rf5, Bxch5+, Rxch, Qxch+, Rxch

8. Neb, Rxeb, Rxeb, Qc7, Qb5
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3. Black to play
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9. Black to play

3.Qg6, Qxg4, Rn1+, Kf2, Bh4+, g3, Bxg3+,
Qxg3, Qxg3+, Kxg3, Rxel

6. Bxch, Rxch, Nc6, Rxc6, Rxcb

9.Nxg2, Kxg2, Qxh3+, Kf2, Qh2+, Ke3,
Rh3+, Rf3, €5, fxe5, Qxe5+



